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TopicBio7c/ Q# 1/2017w/Secl Sci/ Paper @# 1

1 Chloroplasts are found in plant cells but not in animal cells.

Other structures are found in both plant and animal cells.

(a) Complete the table by putting ticks (v') and crosses (%) in the correct column.

Chloroplast has been done for you.

dtictine found in fpund in
plant cells | animal cells
cell membrane
cell wall
chloroplast v x
cytoplasm
nucleus
vacuole
(b) Explain why plants need chloroplasts.
TopicBio7c/ Q# 2/2017s/Sect Scil Paper1
1 Plants and animals contain cells.
(a) Complete the table.
Tick (¥') if the structure is present.
The first one has been done for you.
structure plant cell animal cell
nucleus v v
cell wall
cytoplasm
cell membrane
vacuole
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(b) This is a diagram of a plant cell.

A~ .

Draw a line from each letter to its correct name and function in the plant cell.

name letter function

where photosynthesis

cell wall A
happens

where chemical

chloroplast B reactions occur
contains genetic

cytoplasm c information
dous D rigid to support

the cell

[4]
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TopicBio7c/ Q# 3/2016/s/Sec1Sci/ Paper 2/
5 Lily bought some fresh apples and lemons and placed them in a bowl near the kitchen window.

A few days later, Lily's apples had turned brown and were smaller and shrivelled.

The lemons had green mould growing on them.

(a) Explain why the apples had become smaller and shrivelled.

(b) The mould grew from spores on the skin of the lemons.

Suggest where these spores came from and how they got onto the lemon.

(2]
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(c) The apples and lemons in Lily’s fridge still looked fresh even though they were bought at the
same time.

Suggest two reasons why.
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(2]
/
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TopicBio7c/ Q# 4/2016/9Secl Sci/ Paper/ 1
7 Oiliver always beats Mike at computer games.

Oliver says that this is because his nervous system works faster than Mike’s.

They find a computer program which records how long it takes a person to press a key when the

screen changes colour.

They each do the test four times. Their results are shown in the table.

Oliver's data in the table is incomplete.

time taken to press a ke_y after tl:’e screen chanes colour total average
AESeCOnnY timein | timein
1% trial 2" trial 3" trial 4™ trial seconds | seconds
Mike 032 0.26 0.28 0.30 1.16 0.29
Oliver 0.30 0.26 026 0.42

(a) (i) Calculate the total time Oliver took to do his four trials.

Write your answer in the table.

1
(if) Use your result for (a)(i) to find Oliver's average time for the four trials.

Write your answer in the table.

1
(i) Do the results support Oliver's idea that his nervous system works faster than Mike's?

Give a reason for your answer.

(1
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(b) Oliver says that his trials contain an anomalous result.

(i) Explain what Oliver means by an anomalous result.

IR R R R R R T I R R IR T I I R R R I IR I T R RN IR IR IR NIRRT

Which of Oliver’s results is anomalous?

(2]

(i) Suggest what Mike and Oliver should do to make their results more reliable.

TopicBio7c/ Q# 5/2015/w/Secl Sci/ Paper 1/
1 The diagram shows what a root hair cell looks like when viewed with a microscope.

(b) Describe one way you can tell that this is a plant cell and not an animal cell.

(1]

(c) Which cell structure, usually found in plant cells, is missing from root hair cells?

(1]

(d) Write down one function of a root hair cell.

(1]
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TopicBio7c/ Q# 6/2015/w/Secl Sci/ Paper 1/
10 Look at the diagram.

It shows muscles and bones in the arm.

(a) Joint X is a hinge joint.

Describe the kind of movement a hinge joint allows.

(1]

{(b) The bones in joint X are part of the skeletal system.
One function of the skeletal system is to allow movement.

Write down one other function of the skeletal system.

(1]

TopicBio7c/ Q# 7/2011/w/Secl Sci/Stage 9 Progression Test 2/
11 Organisms inherit characteristics from their parents.

The genetic material needed is found in cells.
Which part of the cell carries this genetic information? Circle the correct answer.
cell membrane
cell wall
cytoplasm

nucleus

[1]
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TopicBio7c/ Q# 8/2011/w/Secl Sci/Stage 7 Progression Test 2/

7 Plant cells contain many parts.
cell wall

chloroplast

nucleus

cell membrane cytoplasm

(a) One part of this cell has not been named.
Add this name to the diagram.

[1]
(b) Chloroplasts are not found in all plant cells.
(i) MName a plant cell that has chloroplasts.
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, [1]
(ii) Name a plant cell that does not have chloroplasts.
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, [1]
(c) Two parts labelled on the diagram are not found in any animal cells.
Which two parts?
L
2 [1]
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TopicBio7c/ Q# 9/2011/w/Secl Sci/Stage 7 Progression Test 1/
3 Bacteria are micro-organisms and can be used in food production.

It is important to find out the best conditions for bacteria to reproduce.
When bacteria reproduce they form colonies.

This Petri dish has six bacterial colonies.

petri dish

colonies

Here are the results for identical Petri dishes kept in different conditions.

without oxygen with oxygen
temperature number of temperature number of
in °C colonies in °C colonies

0 0 0 5
10 0 10 10
20 0 20 20
30 0 30 32
40 0 40 56
50 0 50 21

(a) How do you know these bacteria need oxygen to reproduce?

(1]

(b) The colonies formed are different sizes.

Suggest a method for measuring the size of the colony.

(1]
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(c) Here is a graph of the results without oxygen.

A

40

number of
colonies

20

without
b P = oxygen
_'_,_,..---""'"f

0 10 20 30 40 50 60

]

Y

temperature / °C

(i) Draw the results with oxygen on the same graph.

[2]
(ii) Use the graph to predict the number of colonies at 60°C.
Number of colonies at 60°C without oxygen= ...
Number of colonies at 60°C with oxygen = . [1]
TopicBio7c/ Q# 10/2011/w/Secl Sci/Stage 7 Progression Test 1/
4  The human body is made up of organ systems.
(a) Draw a line to connect each organ system to its main function.
organ system main function
digestive transport nutrients
. break down
circulatory naddants
nemnvous remove waste
excretory gas exchange
respiratory co-ordination
[3]
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(b) Here is a diagram showing the muscles and bones in the arm.

(i) Label the two muscles.

(1
(ii) How do the two muscles work together to make the arm bend?
.................................................................................................................................. [2]
Topc Bio7c/ Q# 11/2011/w/Secl Sci/Stage 7 Progression Test 1/
10 Complete the table about cells.
cells appearance function
il to carry electrical
impulses
\
|
A
71N
a nerve cell
—
@f‘{ =~ | tiny cell with a nucleus
= a sperm cell and a long tail
cell contains lots of
chloroplasts
a plant leaf cell
[3]
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TopicBio7e/ Q# 12/2016w/Secl Sci/ Paper/ 2

1 Here is a food chain from the Atlantic Ocean.

algae ——» zooplankton ——— shrimp ——» cod
(small animals)

(a) How many trophic levels are there in this food chain?

[1]
(b) Explain why algae are called producers.
[1]
(c) Humans have overfished the cod, causing their numbers to decrease.
What effect will this have on the numbers of the shrimp?
Explain why.
[2]

TopicBio7e/ Q# 13/2016/9Secl Sci/ Paper/1
1 The diagram shows four animals found living near a field of cabbage plants.

The animals all belong to the same food chain but are not in the correct order.

G =

snake slug rook

Read the following information to help you to work out the food chain.

» Rooks have no predators and are the top camivores in this food chain.
B Slugs are herbivores and are the main prey of toads.

. Cabbages are producers and make food for the food chain.

5 The energy for the food chain is provided by sunlight.

B Snakes are predators of toads.

(a) write the names of the organisms in the spaces in the correct order to finish the food chain.

sunlight - = | toad |» -
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(b) What is the number of trophic levels in this food chain?

(c) When organisms die, their bodies become food for decomposers.
Give an example of a decomposer and explain why decomposers are important.
example of a decomposer

why decomposers are important

T T T T Ty T O o Ty Ty T T T T P T T T Ty D TN TN T R T )

TopicBio7e/ Q# 14/2015/w/Secl Sci/ Paper 2/

1 There are many difierent food chains in a desert.
These can be seen in the food web.

hawk kit fox

tarantula scorpion snake

NP

lizard
/

insects kangaroo rat

N\ /

cactus sage bush

(a) Which organisms are producers?
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(e) Adisease decreases the number of kit foxes.

What will happen to the size of the snake population?

Explain why.

(d) Draw a food chain from the food web which contains only five trophic levels.

[2]
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TopicBio7e/ Q# 15/2011/w/Secl Sci/Stage 9 Progression Test 2/
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